Feed- 50""’“ d Neural Network:

» 3| @ (3?
_%(Wh,‘l-b') (3)

\/"ﬂ

a—

(2) _ 6(?.)(\A/(z,)]ﬂ(l) + b(z)

() = %(') ( W(') - + l)(n)

X =157 =215 = 1N

wpu.‘{'s

(z) _ M(ZW(Z)})([) + b:,))

Homework: Trc3 Ploﬂfﬂg for random wa'j’ll'.'.s.
C"m_ngg‘ seale W/ # (4,4\13(5/ 6/ Wéﬂoaa’é

sol9 c20 (O



Foths ar
Futtng P—"mé—Q "2 Veoctor containing /V#l"ﬂ"

S‘\l—oduu'ftc &rdfmf &Sfedi EW“)/ b(l)g
on cost ¢ ond any stor parm:

O <9 —-Z 6’59)\‘*
\Leamm5 rate v
Cost ¢ describes Zask pC @
- Match 5 4 onre-hot class label
- Match f 4 g('rengﬂ of concrete
~ Match § 4 puxels of pext wmage

Sc'ale-eﬁect: Pégg\ hidden” fefresenﬁz‘mas hm ond €

(Y . . "
Wkll s as LMdﬁe: this fdéer lerRs far‘
(/3 ‘éLSPG Of' edﬂe-

ndicates  which edﬁeg P,—c_gm'c‘.

Embeddugs: )
14§ x one-hot, W:(: A Y vedtor for choce ¢

[ Often set h" dcrch-j tr W(Z

)]

no pou'ri damﬂ X ond af)’)%mﬂ J‘—und'mn

2019 220 (2)



gg = @(a) 1./(1 + exp(-a));

= (-1:0.01:1)'; % Nx1
H1 = gg(X * randn(1, 100)); % Nx100
H2 = gg(H1 * randn(100, 50)); % Nx50
F = gg(H2 * randn(59, 1)); % NxI
plot(X, F);

gg = @(a) 1./(1 + exp(-a));
X = (-1:0.01:1)'; % Nx1
H1
H2

gg(X * randn(1 100) * 10); % Nx100
gg(H1 * randn(100, 50) * 10); % Nx50
F = gg(H2 * randn(50, 1) * 10); % Nx1
plot(X, F); i
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